
1’-0"

6
"

PLAN-POST MOUNT

3
’-

0
"

2
’-

4
" 

O
N

 W
A

L
L

8
"

2’-0" SQ

6
"

CAP

2’-0"

STANCHION

SIDEWALK

SEE NOTE 4

BOLT LOCATION MTG

HOLES FOR POST

MOUNT, TYP FOR 4

2" DIA SCHED 40

PIPE, HOT DIP GALV

D

C

A B

HRADIUS

BOLT
SEE NOTE 3

POST

TOP RAIL

SEE NOTE 4

G

J
E

F

MIDDLE

RAIL

BOLT

LOCATION OF

MTG HOLES,

WALL MOUNT,

TYP

W/ PL

W/ PL
RACK TYPE A B C

14 12 12

9 9 18 3

24 4 10 13 2

D E G H J

DIMENSION IN INCHES

1.

2.

ALLOY PLATE.

TYPE WEDGE ANCHORS.

ATTACH TO VERTICAL HANDRAIL OR INDIVIDUAL POST WITH PLATES

3.

4.

5.

EACH CORNER.  INSERT DOUBLE SPACER NUTS BETWEEN COLUMN AND

HOSE RACK.

AND ENTIRE UNIT SHALL BE HOT DIP GALVANIZED AFTER FABRICATION.

INTERIOR UNITS SHALL BE FABRICATED FROM 1/8" A-36 STEEL PLATE

EXTERIOR UNITS SHALL BE FABRICATED FROM 3/16" 6061-T6 ALUMINUM

ATTACH TO CONCRETE WALL WITH (4) - 3/8" STAINLESS STEEL STUD

AND (4)- 3/8" STAINLESS STEEL BOLTS.

ATTACH TO STEEL COLUMN WITH (4)- 3/8" ROUND HEAD BOLTS, ONE IN

10-1/2TYPE A-3/4" & 1" HOSE 6

8

F

7-1/2 9-3/4 1-1/2

TYPE B-1 1/2" HOSE3/8" BOLTS W/

PL 1/8x2x4"

3/8" BOLTS

1/8x2x4"

3/8" BOLTS

1/8x2x4"

PL 1/8x2x4",

1/8 

1/8 

SECTION

J
E

F

WALL MOUNTED

STANCHION MOUNTED

HANDRAIL POST MOUNTED

NOTES:

' CH2M HILL

9/17/2009i2210-720.dgn

G-TTLB-SCND, G-TTLB-TEXT, G-TTLB-TEXT-TITL AND G-TTLB-OTLN IN THE ACTIVE FILE WHEN PLOTTING

NTS

 

 

HOSE RACKS

2210-720


